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int main(int argc, charx argv[]){
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return 00O ;

}
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#include

main (){
double
double
int sn
double
while (

uoooooagd

<stdio .h>

X,y

sx2=0,sx=0,sxy=0,sy=0;

=0;

a,b;
scanf ("%If %If",&x,&y)!=EOF) {

SX2+=XkX ;

SX+=

X,

SXY+=X*Y;
sn++;

sy+=

}

Y

a=(snmksxy—sxxSy )/ ( SmSX2—SX*xSX);
b=(sxxsXxy—sy*sx2 )/ ( SxxSX—SnxSXx2);

printf

}
B OO

#include
int main
double
double
double
int sn

("a=%f , _.b=%f\n",a,b);

:0ooooogd

<stdio .h>

Of

X, Y,
sx2=0,sx=0,sxy=0,sy=0;
a,b;

=0;

int count;
while (1){
count=scanf ("%lf”,&x);

if (c
if

ount!=1)
(count==EOF)
break;

lelse{

}
}

fprintf (stderr ,"000000O000O\N");
return 1;

count=scanf ("%lf”",&y);

if (c
if

ount!=1)

(count==EOF)

fprintf(stderr ,"0000000000O00O\N");
return 2;

telse{

fprintf (stderr ,"000000000N\N");
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}

SX2+=XkX ;

return 1;

SX+=X;

SXY+=XxY ;

sn++;
sy+=y;

}

if (sn<2){
fprintf(stderr ,"000000000ON\N");
return 3;

}

a=(snmksxy—sxxSy )/ ( SmSX2—SX*xSX);
b=(sxxsSXy—sy*sSXx2 )/ ( SX«SX—SN«xSX2);

printf ("a=%f,_b=%f\n",a,b);
return O;

}

C boO:boobobood

X

y

X

y

8.8
31.8
131
36.3
12.5
33.8
44.3
45.3
49.8
50.0
22.6
29.5
33.7
4.8
22.6
6.5
3.3

18.2
58.4
25.8
64.9
25.8
61.3
78.7
80.9
88.3
89.9
43.3
54.2
61.2
11.4
42.9
15.9
9.7

43.9
45.6
2.9
40.2
25.9
45.7
13.2
39.1
1.2
13.4
14.9
37.5
13.4
28.8
125
115
48.5

78.4
82.3
9.2
72.3
48.0
82.1
26.5
70.1
6.2
27.1
30.1
67.1
26.8
53.7
25.9
225
87.5

15
25.9
111
16.0
13.2
39.6
6.9
49.5
25.8
39.1
25.9
41.9
8.0
23.9
39.5
46.9

7.2
47.2
22.0
32.1
25.5
71.4
16.5
87.6
48.4
69.5
48.5
74.8
18.5
44.4
70.4
82.9




